3 @) (rad)
a(d cot(B))

1072 1072

T T T 1117
e

2o bbb | 2 by e e
g 15k TR T LS y
14 E U TE | FA b o E !
14 ApEiind “.E & 1 -: N i :
E HEiid LI E ; :
05F IO e M e s L 0.5F ANidE I I
-3 0 1 2 3 -3 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

1

Xy

ooa )(cm)
o(dd,) (cm)

107}

107}

=
s
T
Ay =i
3 5 H
oy
.. : .
e
T

Stttk I 10°

T
e

1078
1.5F1--

1072
1.5

10

i
=
io

Rati
Rati

131

[y

0.5 0.5 1--

|
[T

o

W aasazainan iy
=
=

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

-
SN s £ g
o F- Lot
g R 1 |
[ L .| |- -
o b

L [
S
S | At
(e} o

L pa

10734

- L0 e e N
. |45 . Wl .
g
0 1 2 3
TP n (PCA to beamline)

10

Rat

iy

e
| A
N ; [
I
=



	Contents
	Page 1


